C:# Reading aBar Graph Name:

Solve each problem. Answers
Different Radio Stations
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Pop Jazz Classical 80s
Type of Station 7.
1) How many ads were on the jazz station? 8.
9.

2) How many fewer ads did the 80s station have than the classical station?

10.

3) How many more ads did the pop station have than the jazz station?
4) Which station had the most ads?

5) Which station had exactly 90 ads?

6) What isthe total number of adson all the stations?

7) Were there fewer ads on the 80s station or the pop station?

8) Which station had the fewest ads?

9) Were there more ads on the pop station or the classical station?

10) What isthe difference in the number of ads played on the classical station and the
number played on the jazz station?
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C:# Reading a Bar Graph Name: Answer Key

Solve each problem. Answers
Different Radio Stations
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Pop Jazz Classical 80s
Type of Station 7. pOp
1) How many ads were on the jazz station? 8. J azZ
0. classical

2) How many fewer ads did the 80s station have than the classical station?

10. 70

3) How many more ads did the pop station have than the jazz station?
4) Which station had the most ads?

5) Which station had exactly 90 ads?

6) What isthe total number of adson all the stations?

7) Were there fewer ads on the 80s station or the pop station?

8) Which station had the fewest ads?

9) Were there more ads on the pop station or the classical station?

10) What isthe difference in the number of ads played on the classical station and the
number played on the jazz station?
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